XOK 71"7 'om R,RY P"2.7"02

However, according to the one who - 3337 9915 RN 71297 K7 I82Y InbR
maintains it is Rabbinic, why do the Rabbis exempt him

Overview

The 713 established the &n»92, which stated (according to the o°2om) that one who
was 11201 213 on DAY is exempt from 'M "7 payments, in a case where he was *"v rav
anx.2 The reason he is MWD is because it is a 71X APRY 7WNW (it cannot be eaten).
The X713 asked according to the one who maintains that naw 7wy is MOKX only 132777,
so it is a n"7n 7R 7vnw, why is he exempt from paying '/ '7. Our NdOIN questions
this assumption that it is considered a 7"&" 7w nw if it is MOKX only 712777.

= HYOYN NN MY 3NN IN YT NDT 919910 281 NN
The %7723 could have answered that the 2°»51 do not expound the words of "\&' or

'nrn' to include a mY9W, therefore he is Mws from "M '7 since 7772y 7275 MHW X -
= NYHYA 910097 91291 NYY NN RYT NON

Rather the reason the X771 did not answer in this manner, i1s because the X1 was
not comfortable® to assume that n"1 and the o517 are arguing whether one is
liable for 'm '7 if it was done by a nmobw —

MooIN asks:
= 9N PRY NVINY 12909 192973 1D99RT 999 ¥NRYN XN 9IRN ON)

And if you will say, but it seems from the X773 later that even by something which
is prohibited only 71297%, we exempt him from paying "M '7 on account that it is a

TINT TR AWIRW (even 112771), so why does the X3 ask on the 7" that naw awyn is MOK
only 7112777, since nevertheless this is also considered a 7™X7 AIRW AV NW.

moon will now prove that even if it is 132771 MOR, it is still considered a 7K A1RW 7VAW:
= RDPIIINT IND NP IONYIY PIINT 1IN %29 920PT PNINNT NN 999919Y s¥a NNY

I The nvon references the X773 on 2,XY.
2 We derive from various 2’109 that by '™ '7 there is a 772y 7272 °Ww. See later in this Mpon.
3 See previously on X,xv that others derived from the words “&' or 'nnn' to include a m>w. Perhaps the o’»on do not
agree with these M7 and maintain that (even) by ' '7 the rule remains 7772y 1277 m°%w PR and therefore he is Mo,
41"1 maintains ¥"27% 5w w> by 'M '7 therefore he is 211 by 71X *"y 12w, and the 051 maintain that there is no m°5w
¥"272 (even by '™ "7) so therefore he is M.
5 It was N1 X7 to say that this is their argument (as mentioned in footnote # 4), because it seems that these mwn7 to
include a W by 'm '7 are universally accepted. Additionally, if this is their npY?ma, why mention naw at all, let them
argue what is the rule when one is X >"v 7201 21,
o x,av.
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For the X7 wanted to say that ' maintains’ that our 7w» (which [also] states
that according to w"1 one who is 771v2 19 vMW is exempt from "M '7) maintains

that 79Tv2 WARIW P27 is not a 777N prohibition -
= 9N YA 9VI19 IYNY 239 NP

But nevertheless, the ;11w states that w''9 exempts him from paying ' '7 in these
two cases (one of which is 771y Yonwaw PoIN)!

N190IN answers:
= INIP NIND NIN RIIIINT INDT 9199199 5¥3 XD TH9D HyT 9990 U

And one can say that perforce the X7 did not mean to infer that (even) w"1
maintains that 771v2 WAWIY 19730 is not XN»7KR7, but rather it meant to infer from

*"9 that only the 2''n of w"1 maintains XN»MRT W? 7Y WAVIY PN -
= N¥TP2 192P27 (0w 3,09 97 pony) BTN DI PH91T

For in 2777 »10%2 P2 we explicitly derive -
= 10N51I9INT N9V YONYIY PPDIN PYNY 29 9209

That @' maintains 79192 MWW P9I is RAMIIRTA MOX. The inference was -
- 114950 19 199W5 NP YONYIY POIN VN PYNAY 239 (2,35 4 DINNT XN P92 1IN

Since the 7wn taught in the last pap of 77 0 noon that W' maintains 751

79t wnenw need to be burnt, and the same rule applies if it was a 757 which was
AITYa Ul —

NMBoIN comments:

7" maintains there that 910 71 7500 T NWS w0, Based on this, the X »3 wishes to infer that according to *" our
TIWn maintains 7Y WAVIY 17917 is RNPIIRT WKY; only an 1312777 0K, WY,
8 w"4 maintains UMW 7AW XY 7R APRY 70N so therefore in the last two case of the 71wn (where he was bW a 7970
or he was 1771¥2 P21 LAW), since we cannot eat them, it is considered a 77X 7KXW 7V nw and therefore he is exempt
from ' '7. However, by 771ya wonwiw 1210 it may be only an 1313772 MoK (see footnote #7) and nevertheless it is
deemed a 7% A1RW "MW, so similarly by naw awyn even though it is MMOX only 112777, it should be deemed a fwnw
IR0 7R, and therefore the 1127 (who agree with w'"7) maintain that he is M5 from ' '7; what is the 'R question?!
 The p"n of w"1 maintains in our (X,¥) 73wn that one is 21 for 'M "7 by 77va wnwaw 1711 (and perhaps because it is
XN™IRT WY so therefore it is a 78 7w NW, but not according to w'").
19 Therefore, we cannot say that the inference of the X3 later was discussing w"9, but rather it was only discussing
the p"n of w".
' A n is a wild undomesticated animal (like a deer) which can never be brought as a 127p. The inference is as follows.
The view of those who maintain 7771v2 Ynwiw P70 is 132772 MOK is because of a 771°1, when people will see an animal
(which unbeknownst to them was 1°2117) was brwi in the 777V and it is being eaten outside the parameters, they will
assume that a 127 may be eaten outside its parameters. Therefore, the 021 were 7113 that 7V WMWY P21 cannot
be eaten. The question is why is a 77v2 wnww 71 forbidden, seemingly no one will think that it is a 1277? The only
explanation is that if we would permit a 77192 7URWIY 7°7 to be eaten, one may eat a 7Y LAWY PN NRna. But this
cannot be true, for since a P21 NAa is merely MOR because of a 77°13, how can we forbid a 7°n, since this will be a
7719 771, Therefore, we must conclude that all 771v2 wnwaw 1210 (whether a inna or a 7°m) are 7707 2 0K,
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— DIMINT PHNINNN ONHN P2T 2

And when the X923 inferred there from the 732 in 790 NOON that w"Y maintains
XN™MIRT ATV 0ORVIY 79 -
$IYN IV DI PYNRY 229 NPT PNINNN PTAY K8 NINT TN NID

The X773 could have just as well inferred it from our ;11w» which states that w''

exempts from paying '7 '7 in these last two cases; one of them being 711 P1n vmw, for
if it is not Xn™7X7, why should he be exempt since Xn>R7 it is 7IR7 ALY, therefore we must
conclude that w"1 maintains 77Tv2 Y0MWIY P27 is RNIIRTA OKR!

Summary
All agree that by 'm '7 there is a 7172y 7272 MW 1°7. The rule X2 72X 7PRW 700w

T W, is only if it is XAIRTA MOK.

Thinking it over
Which is the better inference that w'" maintains 77TV WAWIY 1210 is XKNPIIRT; from
our 7wn or from the 71wn in 7707
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